Begin by describing previous methods of charging
Their method of charging:
· Determine a first set voltage value V1 (does not say exactly what it is, so might be logical but arbitrary)
· Constant current charging until the terminal voltage reaches or exceeds V1
· An = time that has elapsed once V1 is achieved (time from halt)
· Bn = terminal voltage when CC charging stops 
· Both An and Bn are measured many times (An is just a timestamp, Bn is the terminal voltage at those timestamps)
· Determine if Bn will drop down to a second set voltage V2 before An reaches a new time value T2
· Begin pulse charging the battery until it is determined that Bn will not drop down to V2
· NOTE
· They include a series of expressions with new variables C and D that are used to perform least-squares calculation to determine whether Bn will drop down to V2 (within the time T2 or after T2)
· However, I don't see any expression for “T2” - they only mention a “specified second set time” on page 8, RHS, lines 26-32
· Moreover, the value of Bn can be calculated if it does not drop down to V2 by setting a time T3 (in the expressions) equal to infinity
· The calculation above is repeated many times until Bn becomes consecutively higher than V2 during the charging of N pulses (N is an integer of 2 or more)
· This adds accuracy to a full charge because it occurs N times 
Charging Apparatus:
· Included in the patent is a paragraph that outlines a charger (controller) with the capability to perform the above charging method to a battery
· Additionally, the charger can perform the calculations above for determining whether Bn will drop down to V2 
A good summary:
· Page 10, beginning at “Fig 2.” at the bottom of the LHS and ending on page 11 at “Fig 3” of the LHS
· Read these paragraphs in conjunction with “Figure 2” diagram as it gives a flow-chart explanation of the process
